

JUDSON INDEPENDENT SCHOOL DISTRICT

Meeting Date: September 18, 2025 Submitted By: Dr. Lacey Gosch

Title: Assistant Superintendent

Agenda Item: Consider and take action regarding approving the purchase of 10 Police Grade Toughbooks from Bond 2022.

CONSENT ITEM

RECOMMENDATION:

That the Board approve the purchase of 10 Police Grade Toughbooks from Bond 2022.

IMPACT/RATIONALE:

The funding approved by the Judson ISD voters in connection with the Bond 2022 Safety and Security Bond included funds to support the purchase of technology equipment for the Judson ISD Police Department. To date, the district purchased 33 toughbooks to accommodate the officers in need of devices to support their roles for a total amount of \$164,024.69. Of the \$600,000 allocated to support the police department from the Bond 2022 funds, a balance of \$180,670.39 remains to be utilized to support department needs. The purchase of these items will fulfill the current staff of the Judson ISD Police department and provide new devices to the remaining employees needing a replacement device as planned for within the Bond 2022 scope. The purchase cost for the ten devices is a total of \$43,472.20. The purchase is awarded to CDWG under the PACE COOP Contract P00185. Additional bids were obtained from DIR-CPO-5225 and TIPS Contract 230105.

BOARD ACTION REQUESTED:

Approval/Disapproval



Judson Independent School District Quotation Summary Form: Solicitation of 3 Written Quotes

Written quotes from a minimum of three (3) qualified vendors must be obtained and documentation of the quotes attached to the purchase requisition. Purchasing will review and approve quotes on a case by case basis.

Michael Davis													
Name of person obtaining quotes	_												
JTECH	<u>_</u>	Quote Number 1			Quote N	lum	iber 2	Quote Number 3					
Campus/Department	Vendor:		CDWG			GTS-TS			SHI GS				
	Person Quoting:		Ashley	Zim	ı <u>bar</u>		Ben H	lors	sey		Daniel B	reaz	<u>zzano</u>
	Phone Number:												
Description	Quantity	U	Jnit Cost		Total	ı	Unit Cost		Total		Unit Cost		Total
Panasonic FZ-55 Toughbook - FZ-55JA60CBM	10	\$	3,501.12	\$	35,011.20	\$	3,598.44	\$	35,984.40	\$	4,620.04	\$	46,200.40
PROTECTION PLUSWARRANTY -FZ-40 and FZ55 LAPTOP (YEARS 1,													
2, 3,4 and 5) - CF-SVCLTNF5Y	10	\$	776.05	\$	7,760.50	\$	693.78	\$	6,937.80	\$	761.19	\$	7,611.90
Panasonic Ac Adapter (100W) For Fz-55, Cf-33 - CF-AA5713A2M	10	\$	70.05	\$	700.50	\$	68.44	\$	684.40	\$	77.87	\$	778.70
				\$	-			\$	-			\$	-
				\$	-			\$	-			\$	-
				\$	-			\$	-			\$	-
If you do not accept the lowest quote, explain below.													
			Total	\$	43,472.20			\$	43,606.60			\$	54,591.00
Laptops for JISD Police Department	_	Freig	ght			Fre	ight			Fre	ight		
Quotes: July 2025	-												
	- _	Gran	nd Total	\$	43,472.20	Gra	nd Total	\$	43,606.60	Gra	nd Total	\$	54,591.00
	<u>-</u>												•
	_												



Hardware

Software

Services

IT Solutions

Brands

Research Hub

QUOTE CONFIRMATION

MICHAEL DAVIS,

Thank you for considering CDW•G for your technology needs. The details of your quote are below. <u>If</u> you are an eProcurement or single sign on customer, please log into your system to access the CDW site. You can search for your quote to retrieve and transfer back into your system for processing.

For all other customers, click below to convert your quote to an order.

Convert Quote to Order

QUOTE #	QUOTE DATE	QUOTE REFERENCE	CUSTOMER #	GRAND TOTAL
PNTB349	8/15/2025	PANASONIC TOUGHBOOKS	4179083	\$43,472.20

QUOTE DETAILS				
ITEM	QTY	CDW#	UNIT PRICE	EXT. PRICE
Panasonic Toughbook 55 - 14" - Intel Core i7 - 1370P - 16 GB RAM - 512 GB S	10	8278385	\$3,501.12	\$35,011.20
Mfg. Part#: FZ-55JZ01BBM				
Contract: PACE COOP P00185 Computer Hardware, Software, Serv (P00185)				
Panasonic Toughbook Protection Plus - insurance - 5 years	10	488805	\$776.05	\$7,760.50
Mfg. Part#: CF-SVCLTNF5Y				
UNSPSC: 81112307				
Electronic distribution - NO MEDIA				
Contract: PACE COOP P00185 Computer Hardware, Software, Serv (P00185)				
Panasonic CF-AA5713A2M - power adapter - 100 Watt	10	5765212	\$70.05	\$700.50
Mfg. Part#: CF-AA5713A2M				
UNSPSC: 39121006				
Contract: PACE COOP P00185 Computer Hardware, Software, Serv (P00185)				

\$43,472.20	SUBTOTAL
\$0.00	SHIPPING
\$0.00	SALES TAX
¢43 472 20	GPAND TOTAL

PURCHASER BILLING INFO

Billing Address: JUDSON IND SCHOOL DIST ACCTS PAYABLE 8012 SHIN OAK DR SAN ANTONIO, TX 78233-2413 Phone: (210) 659-9600

Payment Terms: NET 30 Days-Govt/Ed

DELIVER TO

Shipping Address: JUDSON ISD MICHAEL DAVIS 7990 PAT BOOKER RD SAN ANTONIO, TX 78233-2603

Shipping Method: DROP SHIP-GROUND

Please remit payments to:

CDW Government 75 Remittance Drive Suite 1515 Chicago, IL 60675-1515



Sales Contact Info

Ashley Zimdars | (877) 689-5619 | ashlzim@cdwg.com

Need Help?



My Account



Support



Call 800.800.4239

About Us | Privacy Policy | Terms and Conditions

This order is subject to CDW's Terms and Conditions of Sales and Service Projects at http://www.cdwg.com/content/terms-conditions/product-sales.aspx

For more information, contact a CDW account manager.

© 2025 CDW•G LLC, 200 N. Milwaukee Avenue, Vernon Hills, IL 60061 | 800.808.4239



GTS Technology Solutions, Inc. 9211 Waterford Centre Blvd Suite 275 Austin, Texas 78758 Phone: 512.452.0651

QUOTE

Quote Number:Q-18378Quoted Date:08/15/2025Expiration Date:08/21/2025Account Exec:Ben HorseyInside Sales Rep:Jairus Mika

jairus.mika@gts-ts.com

(512) 681-6239 Terms: NET 30

QUOTE FOR:

Judson Independent School District

FZ55							
LINE	ITEM	DESCRIPTION	SPECIFICATIONS	CONTRACT	QTY	PRICE	EXTENDED PRICE
1	FZ-55JZ-2HBM	Panasonic FZ-55 Toughbook	BSKU, Win11 Pro, Intel Core i5- 1345U vPro (up to 4.7GHz), AMT, 14.0 FHD 1000 nit Gloved Multi Touch, 16GB, Intel UHD, 512GB OPAL SSD, Intel Wi-Fi 6E, Bluetooth, 5G EM9190 (sub6+C), GPS, COM Splitter, Dual Pass (Ch1:GPS/Ch2:none), Mic and Infrared 2MP Webcam, Contactless Smartcard, Standard Battery, TPM 2.0, Emissive Backlit Keyboard, Side Bump Out, CF-SVCLTNF3YR - 3 Year Protection Plus Warranty, CF- SVC512SSD3Y - 3 Year No Return of	DIR-CPO-5225	10	\$ 3,598.44	\$ 35,984.40
			Defective Drive, CF-SVCPDEP3Y - 3 Year Premier Deployment, FZ- SVCFESGEN10 - Field Engineering				
			Support				



QUOTE

TEC	HNOLOGY S	SOLUTIONS	Quote Num	Q-18378		
2	CF-SVCLTNF5Y	Panasonic PROTECTION PLUS WARRANTY - FZ-40 and FZ-55 LAPTOP (YEARS 1, 2, 3, 4 and 5)	DIR-CPO-5225	10	\$ 693.78	\$ 6,937.80
3	CF-AA5713A2M	Panasonic Ac Adapter (100W) For Fz-55, Cf-33	DIR-CPO-5225	10	\$ 68.44	\$ 684.40
specification custome to chan incorrect have re	ally listed above. If a cuser will be responsible for ge without notice. Suppet quantity, specifications viewed your quote thoro	surance, shipping, delivery, setup fees, or any cables or cabling services or material unless stomer requests expedited or special delivery, causes carrier delays or requests redelivery, any additional charges for these services directly billed by the carrier. All prices are subject ly subject to availability. Dell maintains a strict zero-return policy. Therefore, purchases of s, items, or configurations are non-refundable and non-returnable. Please ensure that you ughly. The applicable sales tax for our commercial customers**	Sales Total: Freight & Misc: Tax Total: Total (USD):			\$ 43,606.60 \$ 0.00 \$ 0.00 \$ 43,606.60



Pricing Proposal Quotation #: 26390261

Created On: 7/9/2025 Valid Until: 8/30/2025

TX-County of Bexar Judson Independent School District

Inside Account Manager

Michael Davis

8012 SHIN OAK DRIVE ATTN: ACCOUNTS PAYABLE LIVE OAK, TX 78233 United States

Phone: (210) 945-5553

Fax:

Email: mdavis339@judsonisd.org

Daniel Breazzano

3828 Pecana Trail Austin, TX 78749 Phone: 8004776479

Fax:

Email: Daniel_Breazzano@shi.com

All Prices are in US Dollar (USD)

	Product	Qty	Your Price	Total
1	Win11 Pro, Intel Core i7-1370P vPro (up to 5.2GHz), AMT, 14.0 FHD 1000 nit Gloved Multi Touch, 32GB(16+16), Intel Iris Xe, 512GB OPAL SSD, Intel Wi-Fi 6E, Bluetooth, 5G EM9190 (sub6+C), GPS, COM Splitter, Dual Pass (Ch1:GPS/Ch2:none), Mic and Infrared 2MP Panasonic - Part#: PAN-FZ-55JZ01NBM Contract Name: TIPS - Technology Solutions, Products and Services Contract #: 230105	10	\$4,620.04	\$46,200.40
2	AC Adapter (110W) for CF-33, FZ-40, FZ-55, FZ-G2, CF-FV4 Panasonic - Part#: PAN-CF-AA5713A2M Contract Name: TIPS - Technology Solutions, Products and Services Contract #: 230105	10	\$77.87	\$778.70
3	PROTECTION PLUS WARRANTY - FZ-40 and FZ-55 LAPTOP (YEARS 1, 2, 3, 4 and 5) Panasonic - Part#: PAN-CF-SVCLTNF5Y Contract Name: TIPS - Technology Solutions, Products and Services Contract #: 230105	10	\$761.19	\$7,611.90
			Total	\$54,591.00

Additional Comments

Due to the potential impact of any current or future tariffs, the price and availability of hardware items on this quote may be subject to change.

Thank you for choosing SHI-GS! The pricing offered on this quote proposal is valid through the expiration date set above. To ensure the best level of service, please provide End User Name, Phone Number, Email Address and applicable Contract Number when submitting a Purchase Order. SHI Government Solutions, Inc. is 100% Minority Owned, Woman Owned Business. TAX ID# 22-3695478; DUNS# 14-724-3096

The products offered under this proposal are resold in accordance with the terms and conditions of the Contract referenced under that applicable line item.